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GENERAL MATHEMATICS
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Candidates shall note that each question will be multilingual, viz., in
English/Assamese/Bengali/Bodo/Hindi Medium, for their ready reference. In case of any
discrepancy or confusion in the medium/version, the English version will be considered as
the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION - A/3 - "1/ & - <t /5; - swarit/ - Wit

Choose the cortect answer :

BT S AR Sfeedt:
u% Seal @R A13:

& frge! waa o
W& WA :

/:./Which of the following is an irrational number ?
AT OEd (@A U AR 7

o @ Feufe sefaom?
M e SFfSHE Ty ?
frrefafaa 3 & i ot den srfda wem 2

(a) 0.142857142857142857 ......... (b)

& I8

© | @ 3%

//Consider the following pairs of linear equations : 1
i) 2x—-3y=8, 4x—6y=9

(i) 2x+3y—9=0, 4x+6y—18=0

Choose the correct alternative : ,

(@) The pair in (i) has no solution, whereas the pair in (i) has unique solution.

(b)  The pair in (i) has infinitely many solutions, whereas the pair in (ii) has no solution.
(c) The pairs in (i) and (ii) have no solutions.

(d) The pair in (i) has no solution, whereas the pair in (ii) has infinitely many solutions.
Ge1q (@fyT ANFIIT @RERDT [aear #1:

(i) 2x—3y=8, 4x—6y=9

(i) 2x+3y—9=0, 4x+6y—18=0

B Rt 3k Sfered:

(a) (i) TUIRCBIT ST A1, FRE (i) RO SRS st e |

(b) (i) WECEE Py T4 T Sex, 58 (i) @B shr A1y |

(€) (i) S (ii) TR @IFTIZ FNYH 1R |

(d) (i) TWIRCER A 1%, RRE (ii) TWRGE ST A4 e g |
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ﬁwmwwﬁmmm@@ﬁme:
i) 2y—3y=8, 4x—6y=?
8) 2x+31J/—9=O,4x+6y"18=0

oy Gaglt @x 718 : )

() (i)mﬁamﬁﬁﬁsm(”)mﬁﬁmwm'

B () it s A T 0, R i) rwigfty s
© @) «ds i) O corTiR T TR

@ () oot s A, 768 (@) T s srexse s e
T g e o ! e |
(i) 2x—3y=8,4x—6y=9

(ii) 2x+3y—'9=0,4x+6y—18=0

s Efd |rrE g |

(a) (i)a‘uﬁqﬁ?mﬁm,mm(ﬁ)ﬁ’ﬂﬁmgmwmm

() (i)awﬁaﬁam%ﬂ%ﬁafﬁﬁﬁ?ﬂﬁimm(ﬁ)a'nﬁqmﬂm

(© (i) 3 (i) TN ST HEHers 4

() G Ereers e i) S St e v wEgers

fore g T ¥ e W A

() 2x-3y=8, 4x—6y=9

(ii) 2x+3y—9=0,4x+6y—18=0

'ﬂffﬁ@'ﬂl’ﬁﬁﬁ'l:

(a) T ()T HE &, T T (i) FCE Al ¥

(b) T (i) F I T §, TF I (i) T HE & T

() T (i) R (i) ST % I T T

(d) T (i) FHE T T wH 7 (1) 5 S € ¢

:-)./'H‘\e product of the zeroes of 3x2+11x—2 is : 1
322 +11x—2 I A G0 TN
322+ 11x —2 -97 "I 5foa 7otz .
322 +11x -2 1 oo’ AR aeee-
352+ 11x — 2 F YD F TAGH By
2 2 11 11

@ 3 ® -3 © = @ -3
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4/"‘626‘“"9"“0“}‘9 APO, -4, -8, -1 . | 1
7 S, is:
. 0, =4, =8, —12 e, TR 2RTBIY 265 -

0, -4, -8, —12, ... TSR GRITGYiT] 265 oot T
0, —4 —8 =12, oo T S 26y ey e

AP0, -4, =8 =12, wererers F1 26 3 92 gy .

@ -9% b il (€ —104 d -108

Let ABC be a triangle such that AB=(x-1) o AC=2Vx cm, BC=(x+1) em. Then: 1

(a) A=90° b) B=90°
() C=90° (d) none of these
ABC fags@ AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm | (OFZT :
(@) A=90° (b) B=90°
() C=90° (d) 3wRT QOIS
ABC fagtsd AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm | O :
(a) A=90° ®) B=90°
(c) C=90° d) agER 9Shs 97
ABC Jm@r-=emfi AB=(x—1) cm, AC=2Vx cm, BC=(x+1) cm 3= :
(a) A=90° (b) B=90°
(c) C=90° (d) FERE ATES TS
AABC & AB=(x—1) cm, AC=2Vx cm 3R BC=(x+1) cm &,  :
(a) A=90° (b) B=90°
(€ C=90° (d) T A B o T
6. e point (x, y) is equidistant from the points (7, 1) and (3, 5). Then: 1

(x, y) R0t (7, 1) =1 (3, 5) R GHEeaT TSN | (SR :
(x, y) Rl (7, 1) @ae (3, 5) g 763 TERIST | OIT -

(x, y) Toien (7, 1) 3T (3, 5) Foreel HRATIRT I SRR | S7eed
fiig (x, y) Toigall (7, 1) i (3, 5) @ WA &1 A :

(@) x+y=2 (b) —-x+y=2 -
() x—-y=2 _ d -—x-y=2

7. 8cosec?A—8cot?A=7? 1
(@ 0 b 1 (c) 8 @ 16
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8. ,‘/‘\’ﬁ“‘f stands vertically on the ground. From a point on the ground,

-

. away from the foot of the tower, the angle of elevation of the top of the tow

to be 30°. The height of the tower 1S

which is 15 m
er is found

oe Wbt % Sewela fyw tg M2 @rﬁmvmﬁﬁaﬁmwﬁﬁﬁ‘jﬁwgﬁﬁm‘ﬂﬁ
faasar seoa Mffaga Soa @19 30° TAIRT X4 | FOE Sool 274 ¢

ol wafl 88 Semer MfoE T st “imfrg (e 15 B TRy giee
qaft v s weiGa Meffa S I 30° ofiaar coreT | BsfGa Troor AT

B T e i T g zﬁmgﬁﬁa‘rﬁmwﬁmﬁmwmw
R faifem Tarf fafa famift St @ Aweh 30° /i S | ZraRf ST ST
Wt W T HAR SR wE R m%@ﬁg@,eﬁw¢mﬁgmsmg%w

¥ ferae &1 o/ B 30° 8| HHAR H SR ¥

(a) 5V3m (b) 15V3 m ()

:9/Which of the following statements is correct ?
(b)

(a) All circles are congruent.

(c)  All isosceles triangles are similar. (d)
Baq (@ET SfE BT ?

(@) SREIERER {83 T | (b)
() TR Tiaarz fagred S | (d)
fiare @W Sfeft 8% ?

(a) SRS @3 FM| (b)
(€ SR g fagsy T (d)
TRrEf AE gfern {4 ?

(a) TS SR TR |

(b) T e AR |

() TS TR s STrE-er e FE |
(d) TS SR M |
frefafed s @ S @ € ?

(a) @t ga watTay 2 €

) @t e A

(0 Wit wmfgeTg Bryw Tmey & ¥

(d) wft TR wafras 2 ¥

C2-81-B20-GM

15 m (d) :/Em

All squares are similar.
All rectangles are congruent.

STHCANAE 5% TP |
AHANAIT SO, LN |

AIGTET IR ST
HABTAT HFOR ST |

[ Contd.



(6)

)/The degree measure of the angle at the centre of 4 circle is 0. The length ofanarcofthe
s

ector is :

Wmmﬁﬁmmﬁﬁl GTENBIY iy profa 0705 -

q—@fﬁg @ca 3 @refba fom q#r 0 | JaFeTIfCg e BIAd ey

Sgraf e @ TGRS 0 1 Sy sy seenfs e -

< ot g % R T T B H G AR 03 ) famergs F G =9 oA D

O
® ® 15 © 35 @ 3
Where r is the radius of the circle.
TS r 76 JEOE B |
TG r 22T JS10d IPT |
W ¢ 3 SEE G 9w |
el r g FI =0 %
WS each of volume 64 cm? are joined end to end. The surface area of the resulting 1
: cuboid is : '

AT STROA 64 cm?® RFTE Y01 973 7a q7g st Fa1 71| (BT [BPIfes T'eT
ATONF SToT 64 cm?® AT g6 w=a srmenfr o stewatst sar xeefl, dierefor

AoFIfe el :

HTHREE TR 64 cm?® 7T 9F SRE! SRS Sy BHSeEE SEE | Wi

AR e+ fog Ssemsfoan s

A [ T | TR F A 64 cmd €, F HAT FeTshl I ATt T S SHEn S ¥

THY WIS T 6] JEIT SR ©

(a) 48 cm? (b) 64 cm? (c) 80 cm? (d) 160 cm?
AZ./Thesum of the probabilities of all the elementary events of an experiment is : 1

QBT ~AS1T T A qoAIE e e 2e

93f5 8w SRaTE A qoR IO TR = .

T SRR Tk Tf el ST TSR S

forelt s = it o weel @ RSt A}

(a) 1 (b) 1.25 () 15 (d) 2
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SECTION - B /4 = /¥ -t /g _ et g - war

13. Find the HCF and LCM of 72, 120 using the prime factorisati
‘ . Is th
__product of the numbers equal t0 the product of HI():F afldaI_C.(t:‘O;/[lS:tmn methed. s the 2

/ aifers Sesmiiead rmheud 6, 72 1203 5115, orre o011, GRTadT| AL
opgere, o118, -F PR ST 27

e Geatiaad aafors 6,72, 120 -T A&, @32 o918, @@ FET| ALVISEIR
aerEe, SLALG. QIR q.91.8. -3 AT sy Y 2

e T Fafore sea 6, 72 120 2, an. @ sy g, an, . fegd | SAATHBRE
TSR 2, 37, | AR g, 3. WL WS o i

F@ 6, 72 3 120 1 s UGS fafd g HCE ik LoM T wfr | wenst
WHCFWLCM%W%W%?

14. 5 and 7 pens together cost ¥ 50, whereas 7 pencils and 5 pens together cost 2
% 46. Find the cost of one pencil and that of one pen.
5 it coifieeT ii% 75T FeTe WIN QTelst 50 5, WiRireft 7 O coifepaT i@ 561 FeHA

G QUEETCsl 46 DF | qote (oifie S b Femg w2

SmCWﬂﬁﬂﬁWﬂWWWW,W?ﬁ@WGHR 56 Tt
QT YT 46 TraTl QG (AT @3 GF(G TR T TO ?

ﬁs&ﬁeasnﬂﬁ@aﬂqﬁaﬂmmsomwmﬁﬂﬁwmm@ﬁmﬁa&
T S 46 T 11 e I T W S a2

5%3&17%:@1‘1’35@6@?50%,aﬁ?iﬁﬁawsmﬁfmw@ue%l e
figer 7 e U1 U e 1 ed F1d R

}R/How many two-digit numbers are divisible by 57
ot ST eUrTe Reitr 5 «id Rsren?

nfp SERER Pl AU 5 7ET [ess 7
T AR T SR T ST 5 i a2
3 e Al oot e 59 fawsa ¥
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16. Fi e coordinates of the point which divides the line segment ].Oiniﬂg the Pointg b)
- %, —3) and (8, 5) in the ratio 3 : 1 i.ntemaﬂy_

(4, —3) 1% (8, 5) famg sterarsh CW@asg;IWWWwﬁWWWﬁ@
4T

4, ~3) 932 (8, 5) RrT TR rens 3, 1 oo woRes 1 Rl @
AT @l

(4, —3) 3T (8, 5) T T Hrer e ey <firds 3 : 1 F9oEaE T it ey
foram feg |

3w fiig % Fr T T S fagell (4, —3) sii (g, 5) F1 S A TEES FI AAF T
¥ 3:1 37 ¥ fawifo +al §

I(%LH’&A = 1—2—, calculate sinA and cotA. (A is an acute angle.) 2

afit secA = g,smwcomﬁm‘ﬂﬁn (A @B spmeetT)
At sec A = % sinA €32 cotA Fiefa M1 (A GF(5 ST
gﬁsecAi%’smmwm@‘}ﬁgmmann‘ﬁﬁawva’m)

g sec A = ;_Z’ %ﬁsmaﬂicommmmaﬁmlmﬁm%)

ymlﬁate/m ey ¥t/ Fovefar e/ A g/ A Fene 2
5cos? 60° + 473ec2 30° — tan?2 45°
sin? 30° + sin? 60°
[ Contd.
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(9) 281025

M 4A = cosec (A—20°) find the Value of 4, (4A is an acute angle) 2
Tfit sec 4A = cosec (A—20°) AT ety 0 (4A By TEI)
afi sec 4A =cosec (A—20 A - N ety (4A @3f5 i)
IS sec 4A =cosec (A—-20°), A fr A ﬁg:” (4A 31 99 |\ @)
Mg sec 4A = cosec (A_zoo),ﬁﬁ (4ATH T ) § & A 51 91 I9 FHFIC

20. ve mat/mqﬁm/ﬁmqwm/@w?mﬁ/%?ﬁﬁqﬁ: 2
— cosf
(cosecd — cotf)? = SO
1 + cosf

21. card is drawn from a well-shuffled deck of 52 cards. Find the probability of getting. 2

(i)  aking of red colour

(i) a spade

ST ettt 52 e A9t G oiEAtes o[T afe Bify Sfeear 27 :
(i) Qb IBT TBF IO,

(i) QU ZFE

IR SereT feefy 1T
mewmﬁﬁmsﬁwmaﬁwmmwmn
(@) @0 eI T AST

(M) @0 FA

sfaa Seifde! el |
ﬁm@aﬁq@ma@mszmﬁaﬁmﬁwﬁaﬁww;

(i) 7T v T T

() Y TR

ArArafy snemE &g |
Szﬁﬁﬁmﬁﬁﬂimq@ﬁ@@wﬁﬂ?ﬂm%l
FHIT :

(@) e 1 SR

(i) FFH WA

fir=r =t wifereRan I1@
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SECTION-C/ﬁ-W/ﬁ_W/“_mFﬁ/ﬂ—ﬂFT

22. Prove that V7 is irrational.

f AW BT @ \7 S |
AT QT @ V7 SAfow |
BIAA G V7 31 Tsimenty |
fag FifSa f V7 @ it wer &

23. State the Division Algorithm for polynomials,

lvide the polynomial p(x) by the polynomial g(x), and find the quotient and the
remainder.

p(x)=x*-5x+6, g(x)=2—12

IS ersw waq R[RGT Sery 31
P(x) IMITIF g(x) TRMIBIE 29T I, WIS SR F ST Fiefa 57 |

p(¥)=x*—5x+6, g(x)=2—x2

T2 Retsm T R SmE 3@

p(x) IAMTTEE g(x) T2 AT S AT 93 BT @ SIS Yoy 0T |
2-x2

ferra-TMahIt arar T e 7@’

p(x) Terramiriet g (x) foramamharsif T, SR TR TR Ty g |
p(x) =2 —5x+6, g(x)=2-12

oo Tt a7 8 2

forvTem weiifte 1 i e, p(x) W g(x) N ST WIS qon et s SRR

p(x)=x—5x+6, g(x)=2—2x2

M

p(x)=x*-5x+6, g(x)
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9 . '
24. A fraction becomes 1 if 2 is added to both the numerator and the denominator. If 3

[

. 5
3 is added to both the numerator and the denominator, it becomes 5 Find the fraction.

9
aﬁr@mmmwﬁmmaﬁmmﬁ@ﬁm@mmﬁm T T SF 9

5 .
ATSIPE F51o 3 T FT 5, SATACO! ¢ T et fefr F47

9
@ﬁ@msmmaasmmwzmﬂwsmwﬁﬁﬁmHﬁmaas'@

AfsToa i 3 @t a1 =, G?]ITQ'TTE%NI Emeﬁﬁ@ml
mmwmwﬁmqﬁzmmm%ﬁu 3t o o
Wswﬁmﬁm@mgm@n Wﬁgﬂl

afz faret fut 3 siw sl & 3 2Gh§ﬁmm‘a‘ra€%ﬁwﬁ%| aft siw i g A
ﬁg,-sngﬁmma‘razgé‘rwﬁ%l a%fmsfm‘aﬁﬁm

25.  Solve/STHI 1/ T/ AaGeg g/ &t e : 3

3x2—2V6x+2=0
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: . : e ¢ thei imeters is 2
26.  Sum of the areas of two squares is 468 m2. [f he Jjfference of their perimetersis24m 3

find the sides of the two squares.
70T A5 THa PIAT I5TFe 468 m?2 | ﬁaqquﬁﬁmavm‘ﬂ%m, sfesd g
ATSFONE oy facfm &t |

gt asfestag sifera @istwet 468 m2 | qﬁ;amﬁaqrﬁ—ﬁﬁmﬂﬁfﬁ24m | 3T
yfoa dreita s fHefy s

T FeE Taefuf TR 468 m?2 | gy aice AT SO I e
24 m, FiE=ARg HAAT FAHETE AEuE fagq

<1 T e AT 468 m2 ¥ 1 A I TRAT F Siat 24 m &, W I S BT YSI
HITeC |

Mi)fdinates of a point A, where AB is a diameter of a circle whose centre 3
is (2, —3) and B is (1, 4).

QBT 399 T AB | (FES FARS (2.—3) T B I YA (1, 4) T, A T FAKT ff7
wt T L}r

P47

«3fG 3087 AT AB | (@UHEF FAIF (2, —3) 932 B 97 FNIF (1, 4) T, A 97 AR

AT @

A @At et AB | fael gmafT faar (2, —3)mBﬁmﬁm(1’4)WAﬁ
graf foram fega!

fig A ¥ Frévis T Fife, & T AB TF T W &, e 37 (2, _3)% e fig
B¥ (1,4)!
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28.  Find the sum of first 51 terms of an Ap Whose Second and third terms are 14 and 18

respectively.

BT I 2o FaSH WP PN T Bty 14 e 15 | AiES IR AU 5151

g @ETe fqefy 4T |

9FfG AT Asifer fasw W32 Tol T 96 @07 14 932 18 | swies WG 4w

516 si@ @srws T et

WWWWﬁmW”mWwﬁﬁmmw qdfe Smfaf ffs
51 fog@E®R T fogA |

I AP % WHH 51 9] 1 A0 I HIY, TS gt ol ek e e 14 ol 18 1

23. D and E are points on the sides CA and CB respectively of a triangle ABC right angled 3
/
M. Prove that AE?+BD?=AB2+ DE2.

ABC M fagsa £C CaiT | CA =% CB A17® aiermi D oI E 751 Ry | emret

P41 (T AE2+BD2=AB2+DE? |

ABC S fagts £C M| CA @32 CB A0 D 932 E IU@w g6 5|

AT T T AE2+BD2=AB2+ DE? |

D I E 3N ABC G sTrafeer amfy ¢ o @A CA 1R CB f1 wmam A fard

HIAM T € AE2+ BD2= AB2 4 DR2 |

T TS ABC TSR 101 C Jomiion 3, a5t sy CA 9ft CB W shwt: f8ig D 3l E feee 1
ﬁ:'z ﬁﬁ'ﬁﬁr{ﬁ? AE2+BD2=AB2+DE2%I
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30.  Find the are; : . ) ints of the sides of th
//W( e area of the triangle formed by joining the middle P° e

[

~
o

triangle whose vertices are (0, =1),(2,1) and 0,9

b1 g Mg fofbr wmies (o, —1), @, 1) @ 0. | fageoR A2 f5fibr
WSRTRRET eTs I (oM Rageiebia wfer Shngdt|

Aff fagrew MRy foafba @ o, -1y, (o, 1) @32 0 3) ! fageifoa a2 feafig
WY F8e1 I MG fapeitia sty @ 3@

A sttty fufe o) dmemf awafy farn o, -1, (&1 AR (0, 3) | a2y
St et TR G 2T T s S g |

TS (0, —1), (2 1) 3R (0, 3) T Foege =% s & ea-Forgall A S e Frefs 1 arrer
T FIfSC

Md the area of the sector of a circle with radius 4 cm and angle 30°. Also, find the

Y

C2-51-B20-GM

area of the corresponding major sector. (use w=3.14)

4 cm TGS IS QBT 30° (19T Q5T JeTR FIfeT fefy 4T | 7S AR T
TN FIfer fefy T | (w=3.14 FfeT &f<at)

4 om TEHIE G5 J0a7 30° T WfT JTF e Fyef Fat ) ofeey SIgaet 43
Faeftr Fifer e Fr| (m=3.14 T F@W)
4cmﬂwwww30°ﬁﬁﬁﬁq@ﬁ@ﬂﬁmﬁ§m Wﬁﬁﬂ'{
A geER RE | (m=3.14 T )

4 cm BT SR O 94 3 @ 1 Gl I H, ot o 3008 e @, wna
forarais 1 AR ot T R (=314 T T i)
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SECTION - D /% = /¥ - 3t /% _ et r - wqrm

32. Solvg the pair of equations by 148 them to a pair of linear equations. 4
TER St afke eadta R8T B s
e imaer womor e AT TSI S S et |
TETaf THMYTE W < giEiet GHHUTE S WA egen g |
firet it % g =) Y wdwl % I § 95w W F T A

1 1
+
Ix+y 3x-y

2
4

1 _ 1
2B3x+y) 2(3x-—y)

=
8

33, If ghe areas of two similar triangles are equal, prove that they are congruent.
qBr st frgea BT ST %G, ot it (o g ot Ko |
aff orpt fagrew Fifer T 2@, et Jear c, faget wft s |

wmmmwmwm,mﬁwﬁmmm
g el
aﬁamﬁaﬁ#mmﬁmmwﬁaﬁgﬁmmﬁn
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Jonger when the

40 m
Wadow of a tower standing on a leve} ground is fouﬂd w ]izwer. (Take V3= 1.732)
Sun’s altitude is 30° than when it is 60°. Find the height of the
te] ’ Ca’ T-E]-q-]q
= 5 gy (@) 60° 2
G TR eﬂa@m&%mﬁrmw@ﬁ@aﬁﬁ( vt Ff T

et 7@, B9 (@19 30° 2 (1 SISLF 40 m (qfy A 2|
(V3=1.732 Jfe1 4fedt)

1 60° 20 TS A =,

i T S STRSTT ATt @af @ e 7ed 507 ofar AT

S5 @I 30° T OIF (A 40 m @ Bf 7| g PO

’
2 ~

(N3=1.732 e 44R) ’

N AT S T 2T S wry st (S E ) 60° s 30° ST

40 m ST |AT | Eﬁﬂﬁﬁﬂsﬁﬁyl(«,@:Lmzﬂﬁ &)

@waw«@aﬁmaﬁmwﬁaﬁﬁmmafﬁﬁﬁmﬁ%ﬁﬁﬂﬁm
AN 60° | TZHL 30° B W 7 rﬁﬂﬂa?ﬁ%ggmmﬂﬁm(«laﬂ.?szmmaﬁﬁm)

C/ﬂ.'/lf all the sides of a parallelogram touch a circle, show that the parallelogram is athombus. 4

Tf Bt TefEeT SBRE@EET W GG 8T ~orf FE, Y&l (@ ABIIFO! Qb iR |

Tt gl Tftea TRSET IR 9H /@ = F@, e @, At 9 i
T |

mmmmmmmm,mﬁmmm,
fag ey fon frelt 30 % oftr Taiad <9 OF Tegde ¢
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: o g IVen ty
Wnuct a triangle similar t0 @ &V iangle ABC i its sides equal to g of the 4
4

gle ABC, (

corresponding sides of the tria® Write the steps of construction.)

] d

aﬁﬁ%ﬁwABcamwmﬁwmmﬁTmmmAch

Wﬂmg@qﬁml (TP HlRare ot )

aFf3 fffe fage ABC -a7 7T O 931 fags: o et aite g ARSTE ABC

fagsiba Sg@e ATBTEIR % &TIF T 3| (TEET A 1meseer foTI@)

T for sy ABC 1 7et T At T A st nfe S A sTaterdm

ABCWMWMWW%W%Wl (3nfEE MTeRE! fer 1)

@WWWABC%WWW@WWWWWABCHﬁW
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37. Fipd the area of the shaded region in the f where a circular arc of radius 5
cm has been drawn with vertex O of an Eul'eﬂ bEIOaVlV/tri angle OAB of side 12 cm as
centre. quilater

oore foae SRIfte SIWATT I fiycy oy v 12 em T «Bt R fagew
Wommmﬂaﬁscmmqmmmﬁmml

Frarrs fota wmmifits weTe SR Fiey o qrar 12 cm T2 9310 TR fagrew
TRy O @ @4 R 4@ 6 cm APITeT Qo g8 B ST IR

Wmmmmﬁmqﬁ@,wlzcmmﬁﬁmmm
Wfﬁ%ﬁﬁﬁo@ﬁﬁﬁﬂﬁwﬁ 6 cm @A TSGR SR SfEE
|

epf & STIfRA W 1 SAEC I R, ST YT 12 oo T, TH WHaTE F9sl OAB & ¥t
O g HH T 6 cm PR 91 T g =g @it T ¥ *

OR / Af%at / S431 /T / 3reraw
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A toy is in the form of a cone of radius 35 mounted on a hemisphere of same 5

radius. The total height of the t0y i 155 em. Find the total surface area of the toy.
a1 5T 9T APHYS @B TR o1 3.5 o qypregs @Bt g AP |
ST § Toow! 27 155 cm | TOTBR g sppwwifer ey 531 |

935 cyort @k PGS 9T KON Gortg 3.5 cm asPTTT @aft 15 7@
o1 O a1 el XA 155 om | ey g b Rt e
TR T 3.5 om W ETE AR SEHE! T W areeRf S S T |
TR TR Sermgar 15.5 cm | HU T oG ety fige

T fEeli 3.5 cm f5F0 a6l T WIF % AR & 8, St 36 foen 9@ TF e W
Fif §1 70 e % wq S 155 em ¥ 79 Faely w1 gl g doe
HISY |

38. The median of the following data is 525. Find the values of x and v, if the total frequency 5
is 100: .
GNT T A 525 | x IF y T WF SFASAT Tk 75 I19eITST 100 |
fACTIE SR TYWT XCeT 525 | x 998 y -9q WA @ @ 7 @I I92Ie! 100 27|
TS B G I e 525 | x 3R y 7 7 g Jfe m& e 100 S
frefofiaa el 1 Weas 525 ¥ AfE SReRasil &1 IW 100 §, @ x X y &1 71 I
HIfg |
Class interval |0-100({100-200200-300 | 300-400 |400-500|500-600 | 600-700|700-800800-900 | 900-1000 | 800-900 |900-1000
1 SR ater
AT SR e
e S
1 S
Frequency 2 5 x 12 17 20 y 9 7 4 7 4
TRQRS!
RES o)
KSUER|

i
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